@alculate the measured optical density Dcg meas(A) = In[lo(N)/1 ()\)D

v

Calculate Rayleigh extinction coefficient
Qray for the measurement. Set all initial

. 0
trace gas concentrations to zero cz(. ) = 0.

Start with the first iteration: n = 1.

Estimate the true optical density

1+ LO (Z Jz (n 2 + O'ray()\) : Cair)]

DE(A) =n

Estimate the effective path length

L&\ = Lo(\) - KM (A) = Lo(N) - -

Compute the effective fit references

6" () = HN) @ (L () - o:i(n) -

DOAS fit with @l(n>()\) t0 DCE meas(A) to get improved es-
(n)

timates for the trace gas concentrations c;

Did the iterative procedure n=n+1 I_
converge?

( Finished with trace gas concentrations c;. )




